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CVS-Physiology  pestires

1.T wave of a normal ECG corresponds to ? Select one:
a. Ventricular depolarization.

b. Ventricular repolarization

c. Atrial depolarization.

d. Atrial systole.

e. Papillary muscle repolarization.

Answer: B

2.An ECG revealed no P waves in any lead, this indicates damage of? Select one:
a. Sino atrial (SA) node
b. Bundle of His.
c. Purkinje fibers.
d. Left bundle branch.
e. Right bundle branch.
Answer: A

3.QRS complex indicates? Select one:
a. Atrial depolarization
b. Ventricular depolarization
c. Atrial repolarization
d. Ventricular repolarization
e. Papillary muscle repolarization.
Answer: B

4.Electrical ventricular systole is called?
a. QT segment
b. QT interval
c. ST interval
d. PR interval
Answer: B




